Jobooobg20lioboobooobooot

Doooo*ooooofoooot o

gb24010260

1

ROODOOOOOODOOOODOOOOODOODOOOODO

-~

data<—read.csv(” Problem_set_data2011.csv”) #0 0 0 00O #
attach(data) #0 0 0O OO#

#1) OLS #

olsl<-Im(Y1™'X-1) #1000 0000000000 0O#
summary (olsl) #0 0 0 00 O O#

#2) OLS #

ols2<—Im(Y2"X-1); summary(ols2)

#3) 2SLS #

tslsl<—tsls (Y1™X—1,"Z—1) #package”sem” 0 O O #

tsls2 <—tsls (Y2°X-1,"Z-1)

summary (tslsl); summary(tsls2) #0 0 0 0 O O O#

#4) Wu-Hausman test #

hausman. systemfit (tslsl ,olsl) #package” systemfit” O O O#

hausman. systemfit (tsls2 ,0ls2)
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000000000000D0000D00000
1—¢1z—¢2z2 =0 (6)
000000000000 D00000000
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0000000000000000000f(2):=22-¢12—¢, 0000000 f(z)=00000000000
0000000000000000000000000000
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210 00000002 =221 =212 =%z =| 2 2000022 <1000000¢, < -10000
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000000000 0OEy, 0 ¢t00000 constant 0000
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AR(2) equation
Yt = P1Yt—1+ G2yr—2 + € (10)
0000 y—,;(j=1,2,---) 00000000000
Y(G) =17 = 1) + d2v(j —2),5 = 1,2, . (11)
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p(1) = ¢1+ d2p(1) & p1=¢1/(1 — ¢2) (13)

p(2) = d1p(1) + ¢ (14)
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O00000000000000 E(elz) =0000 E(e;2) = E(E(e]2:)2;) =000000000000000
E(zi(yi — x80)) = 0. (37)
O00o00oooooooooooo
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== z(y —2B) = (Z’Y—Z’Xﬁ). (38)
nz=1

0000 GMMOOOOOOOOOOOO WO E(22)00000000000000000000000O0O0
0000000 (conditional homoskeddasticity) 000 V(e;|z) = 0?2 000 S = E(e22;2)) = E(E(e?]2:)2:2)) =

0’FE(22) 000000 SO000000006200000000 20000

-1 -1
2 2 =02=2'7 39
ong Ziz =07 (39)



Ogf00oooooooooooooeMMOOoOOooooooog
J(B) =

L2~ ZXPY (2 2) 2V - Z'XF))
= }2 {2y = Z'XB)Y(Z2'2)"H(Z2'Y — Z'XB)}. (40)

g

ooooobJoooOoooooooOooooo0n0O0O0ODOOOODDOOO
GMMOOOOOOOOOOOOOOOO0OO0O000000000000000000000003000000
goboobooooboooooobooooobooo

X'Z2(Z'2) ' Z2'Xp=X'2(Z2'2)"'7'Y. (41)
00000000 GMMOOO200
Bavmm = (X'2(Z'2) 2’ X)X 2(Z2' 2)" 1 Z'Y. (42)
00000000000000000000000000000000000000000000000000
00000000000000000Y =XBy+e000000000000000sampling error O

A 1 1 1 1 1 1
Bavm — Bo=(=X'Z(=Z'Z) ' ~Z' X))\ =X'Z(=2'2) ~Z'¢ (43)
n n n n n n
000000000000000000#d000000000000000000E(ze)=0000
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